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QUESTION 1

Which of the following are benefits of an independent test team, and which are drawbacks? 

A. Independent testers can find different defects. 

B. Developers may put less emphasis on quality. 

C. Independent testers can be seen as the reason for delayed projects. 

D. Independent testers can verify assumptions made during the specification of a system. 

E. a and b are benefits, c and d are drawbacks. 

F. b and c are benefits, a and d are drawbacks. 

G. a and d are benefits, b and c are drawbacks. 

H. c and d are benefits, a and b are drawbacks. 

Correct Answer: C 

 

QUESTION 2

A system requirement states that up to 100 users should be able to carry out a transaction, with responses 

returned within 5 seconds. 

What type of non-functional testing would you carry out to verify these requirements? 

A. Stress testing 

B. Maintenance testing 

C. Load testing 

D. Usability testing 

Correct Answer: A 

 

QUESTION 3

A booking system for a city bus service prices its fares according to the time of travel: 

?Peak-time tariff starts at 0600 and finishes at 1000 am ?Off-peak tariff applies during all other times of 

service ?The bus service does not operate between 2300 and the start of the next day\\'s peak service Note 

that all times mentioned are inclusive. 

When applying the equivalence partitioning test design technique, which of the following options, shows 
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test case inputs that each fall into a different equivalence partition? 

A. 0600, 1000, 1200 

B. 1001, 1300, 2259 

C. 0100, 0800, 2200 

D. 2400, 1000, 2301 

Correct Answer: D 

 

QUESTION 4

Which one of the following statements about testing techniques is TRUE? 

A. Exploratory testing can replace black box techniques when testing time is very limited 

B. Test execution scheduling should give priority to experienced based testing 

C. Specification based techniques can be used as a substitute for a poorly defined test basis 

D. Experienced based techniques are systematic and produce detailed test documentation 

Correct Answer: A 

 

QUESTION 5

A "functional test" is... 

A. ... a test focused on the efficiency of the system 

B. ... a dynamic test for which the tests are based on the specification of the test object. 

C. ... a static comparison of test and requirements specification of a test object 

D. ... a test for which the test cases and test data are based on the structure of the test object 

Correct Answer: B 

 

QUESTION 6

The following Test Cases have been created for a simple web-based airline booking system. Test Case 1: Search for an
item Available Flights Test Case 2: View selected item in My Flights Test Case 3: Login to the system: Login is accepted
Test Case 4: Select an available flight: item added to My Flights Test Case 5: Print confirmation receipt, then exit Test
Case 6: In My Flights, confirm details and book flight Which of the following is the correct logical order for the test
cases? 

A. 6, 3, 1, 4, 2, 5 

B. 3, 4, 1, 2, 5, 6 
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C. 3, 2, 1, 4, 6, 5 

D. 3, 1, 4, 2, 6, 5 

Correct Answer: D 

 

QUESTION 7

When an organization considers the use of testing tools, they should: 

A. Use a tool in order to help define a good test process because the tool will force process repeatability and therefore
enforce good test process. 

B. Always start by bringing in automated test execution tools as these tools have the greatest return on investment and
therefore should be introduced first. 

C. Perform analysis of the test process and then assess whether it can be supported through the introduction of tool
support. 

D. Allow the developers to select the testing tools because tools are technical and developers have the appropriate
skills to advise on test tool selection and configuration. 

Correct Answer: C 

 

QUESTION 8

Which ONE of the following is the BEST way to take advantage of the different mindsets of testers and developers? 

A. Insist on independent testing at all stages in the lifecycle. 

B. Have all developers undergo ISTQB training. 

C. Keep developers and testers in separate teams. 

D. Bring the two mindsets together. 

Correct Answer: D 

 

QUESTION 9

The four test levels used in ISTQB syllabus are: 

1.

 Component (unit) testing 

2.

 Integration testing 

3.
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 System testing 

4.

 Acceptance testing 

An organization wants to do away with integration testing but otherwise follow V-model. 

Which of the following statements is correct? 

A. It is allowed because integration testing is not an important test level and can be dispensed with 

B. It is not allowed as organizations can\\'t change the test levels as these are chosen on the basis of the SDLC
(software development life cycle) model 

C. It is allowed as organizations can decide on which test levels to do depending on the context of the system under
test 

D. It is not allowed because integration testing is a very important test level and ignoring it means definite poor product
quality 

Correct Answer: D 

 

QUESTION 10

A money order system is designed to calculate the charge for a transfer 

-

Amounts from 1 to 1999 are charged EUR 10. 

-

Amounts from 2000 to 5000 are charged EUR 15 

-

 Amounts below EUR 1 or above EUR 5000 are not accepted. Assume that only integer values can occur. Which of
these sets of amounts covers all equivalence classes? 

A. 

0-1999-2000-5000 

B. 

1-2000-5001-10000 

C. 

0-100-2000-6000 

D. 

99-1- 2000- 4999,99 
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Correct Answer: C 

 

QUESTION 11

Which statement about Static Testing is TRUE? 

A. Static testing can be applied to any work product that participants know how to read and understand. 

B. Static testing must only be applied to final work products that have been signed off. 

C. Static testing must be conducted by users of the product being tested. 

D. Static testing executes the code to verify the functionality is as expected. 

Correct Answer: A 

 

QUESTION 12

Choose below the best characterization of the difference between black-box testing and white-box testing 

A. For black-box testing, the testers do not need to know the test object in advance 

B. For white-box testing, the testers have to consult specifications and developers before running any tests 

C. Black box testing uses static analysis. White box testing uses dynamic analysis 

D. Black-box testing is based on the test basis documentation. White-box testing is based on an analysis of the code
itself. 

E. Black-box testing is based on an analysis of the code itself White-box testing is based on the test basis. 

Correct Answer: C 

 

QUESTION 13

Which of the following statements contradicts the general principles of testing? 

A. If new defects are to be found, we should run the same test set more often 

B. How testing is done, is based on the situation in a particular project. 

C. Testing is better if it starts at the beginning of a project 

D. Most defects are found in a small subset of a system\\'s modules 

Correct Answer: A 

 

QUESTION 14

CTFL_SYLL2018 PDF Dumps | CTFL_SYLL2018 VCE Dumps | CTFL_SYLL2018 Study Guide                               6 / 7

https://www.passapply.com/ctfl_syll2018.html
https://www.passapply.com/ctfl_syll2018.html
https://www.passapply.com/ctfl_syll2018.html


https://www.passapply.com/ctfl_syll2018.html
2024 Latest passapply CTFL_SYLL2018 PDF and VCE dumps Download

Consider the following pseudo-code How many minimum test cases are required to cover 100% Statement coverage
and Decision coverage? 

A. 5 for Statement, 5 for Decision 

B. 4 for Statement, 5 for Decision 

C. 8 for Statement, 6 for Decision 

D. 6 for Statement, 8 for Decision 

Correct Answer: C 

 

QUESTION 15

The four test levels defined for a common V-model testing approach are: 

A. Unit, integration, system and maintenance. 

B. Functional, glass box, incremental and maintenance. 

C. Component, integration, system and acceptance. 

D. Unit, component, functional and alpha/beta. 

Correct Answer: C 
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